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Find the area of the triangle whose sides are 13 cm, 14 cm

and 15 cm.
13 9T, 14 9T 3R 15 9T G171 A1t IS ot et A7 ity |

1.84 2. 95 3.100 4.105




The ratio of three angles of a quadrilateral are in the ratio 1: 6 : 2. The

measure of fourth angle Is 45°. What is the difference between the
largest and smallest angle?

Uk STAHS <k I SHIUTT SRT STTUTA 1 ¢ 6 : 2 1 T K0T HT WG 45° 7, AT T
TS TAT TTH DTS hIUT ok sl 3Tl FAT E 2

1.70 2.105 3.155 4,175




A and B can do a piece of work in 6 days and 8 days respectlvely
If they are working alternatively then in how many days total
work be completed if B starts the work first?

A 3T B Tt 13 7 FH: 6 X 8 fa § U FT g g1 I8 F1d A

THia< T ﬁﬂﬁﬁ%ﬂfﬁﬁﬁﬁﬁ‘fﬁ{ﬂ%qﬁB#%ﬁW
fRaT 81?2
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A man covers the journey from a station A to B at a uniform
speed of 30 km/hr. and returns to A with a uniform speed of 50

km/hr. His average speed for the whole journey is \
Uk STTEHT E2ITT A § B Tk 30 TerHT / €T <Al Ueh |HTT ATed | ATAT THhidT g AR

50 TeRHT / EeT ShT Ueh HHTH i h {1 A TR ATUH SATedT 21 G ATAT ok 71y
3HhT 3T oATA & —

1. 36 2. 40 3.42.5 4. 45




A goods train is 250m long and moving at speed of 54 km/h. A man is
sitting In a passenger train which Is moving In same direction with a speed

of 18 km/hr. In how many seconds the goods train crosses the man sitting
in the passenger train ?

Ueh HTCTTST 250 Hied oial & 3R 54 TorHT / €eT Al Tt | T gl Ueh STTEHT
Ueh UHY ¢ U 98T & AT 18 Tehtt / geT <At et | 3T fE9r 11T ag w1 2
HICTTST, AT ¢ H IS TEHT <Rl Tehdd Hehs H UR hidl 8?2

1. 20 2. 25 3.16 4.18
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A sum is given on simple interest for 2 years at 4%. If the sum is
given on 5.5% rate then interest will increase by 1800 Rs. Find the
sum.

Uk TT(T 2 Y o TeAU HTLATIUT ST UT 4% <kl 2 U2 I 2| AT LT 5.5%

ShT 2 UT =1 STY, a7 <AT<T 1800 T T ¢ STUIT | TS AT hifeT |
1. 30000 2.60000 3. 3000 4. 6000
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On increasing the radius of a circle by 20%, the percentage increase in the

circumference ?

I ok TS SRl 20% TETAT ATAT & A1 Ik TRTE | Teha = Ia9rd ki
qleg BRI

1. 65% 2. 20% 3.44% 4. 80%
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An article is marked up 40% higher than CP, but it was sold on X%
discount. The shopkeeper thus gains 12%. What should be value of x ?
Tk & T o Hed shi TeTT H 40% 3Tfereh fafga foram mam g, afeh T 38 X % e W
ST 77T M| ShTHER ol 36 TR 12% ITH BHAT 81 X o €T U T BT A1(eq 2
(a) 10 (b) 14.4 (c)20 (d) 15
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A person sold an article at a profit of 23% if he makes SP
three times then what % of profit should he make?

TS ST = 23% o W9 U Tk IEq 9T 3R 8 Tosha 7o st
A AT S, A1 3 TohaT % TS ITH ERIT 2

A) 69%
B) 169%
C) 269%
D) 369%




Find the unit digit of 1613 + 2411,

16'% + 24! o5 ZeRTS kT 3Tk JTTA hiTeTA|

1)8 2) 6
3) 4 4) 0
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If 10 men complete half work in 12 days when they work 8 hours per day, In

how many days 16 men complete the full work when they work 6 hours/day?
Fig 10 YW Tid 167 8 T ohTH I U 12 T4T | SAT4T HTH G & I 7, a1 16

TN Y K TH hT Tohd= T3AT 0 9T of¥d & Sal o 6 ¢ / T3 ot ohdd 82
1.18 2. 20 3. 24 4. 25




In 350 litres mixture of milk and water the ratio of milk and water
Is 5:2. Find the quantity of water to be added to make this ratio

54.
E%TEﬂ'{q'l‘—ﬁaEB,SOFﬁT{ﬁrS}TUTﬁ ‘q’&Taﬁ'{Q'l‘rﬁrothum 2. 39

AT ehT 5:4 TATH oh TeT0 THATT AT ATt TeA ehl HTAT T hi T,
1. 120 L 2.140 L 3. 159 L 4. 100 L




The respective ratio between the present ages of son, mother, father
and grandfather is 2:7:8:12. The average age of son and mother is 27
years. What will be father’s age after 7 years ?

g, Aral, fUar 3R Sret it aqae A1 o ster defer orquT 2: 7: 8: 12
21 9 R AT T STEA AT 27 T4 81 7 VT 918 {4t iy 37 741 gt

(1) 40 year (2) 41 years (3) 48 years (4) 49 years

()
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Ratio of Rama's expenditure and saving is 5 : 3. If his income is 16000 then

find difference between his expenditure and saving ?

T o T 3R T T FATAT 5 : 3§ AT IThT AT 16000 7, AT 37k o9
TR I o el 37X ATd hIfSU)

1- 5000 2- 6000 3- 4000 4- 4500

16
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A person gave 20% of his income to his elder son, 30% of the remaining to

the younger son and He is left with Rs. 10800. What was his income?

Teh AR STUHT 3T T 20% 3T I T oY 3T g1 AThT Tt 55 3T T 30% 310 BIE
T <l ST 2 SR T 31a 36k Ut 10800 TU Teld | IEhT T T off?

1)20000  2)15000  3)18000 4)25000

17
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If interest is earned Rs 50 in 1 year and 65 rupees in 2" years under compound

interest from a sum of money, then what is the rate of interest per annum?

e srshafeg saTt o dga fordlt TARTH 1 |Ter 7 50 TU R T AT | 65 TUA T

=TT fireTrat g, o Ufaard samet <At 2 ST 2
01.10% 02.30% 03.25%  04.20%

18




Y MISSION SsC 2023 AT\ EDE©:
Find the volume of a cube whose diagonal is 3+/3 cm.
3V/3 UHT fIRuT ITet Ueh O ST AT shifeT |

1.9 2, 27 3.36 4.81




N is the smallest three digit prime number. When N is
divided by 13, then what will be the remainder?

N g8 BIel dId 37T aTell USH a7 &1 oId Nl
13 ¥ faafaa foear Srar &, a AUwe AT 1am?
(a) 8 (b) 9 (c) 7 (d) 10
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If a boat goes 100 km downstream in 10 hours and 75 km upstream in 15

hours, then the speed of stream is

i Teh AT 10 ¢ H 9RT hT g & 100 freT, Tredt 8 3R 9T o ffeg 15
quet U 75 TerHT, STl &, AT &7 Shl AATeT TehdHT 82
(1) 2 km/hr. (2) 3 km/hr. (3)2.5 km/hr. (4) 5 km/hr

21




The average of 7 consecutive numbers is 37. Find
the product of smallest and largest number

7 ShHTTA HEATAT T ATEd 37 2| TaTH BIET TAT TSI HEAT T TR
N N

ST <h{ST |

1. 1240 2. 1341 3. 1542 4. 1360




Find the Unit Digit of 12>x13>x15x17.

12x13%x15%17 oh 3ehTS ohT 3ich AT hitaTd|

1)5 2) 0 3) 2 4) 7
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\/276 + \/157 +/140 + V16 =2
D17 2)89 311 4)45
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Find the number of diagonal in the hexagonal ?
WZERIUTT | TSRUTH chl HEAT AT shifeTg?
1)9 2) 12 3)5 $H15
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A can do a piece of work in 20 days and B in 15 days. With the help of C, they

finish the work in S days. C can alone do the work in

A Toret Rt 20 foT § R Thar 3 3T B, 15 e U s @ehdT 21 C il TEIar H
3 5 o7 o w0 THTH R A Bl C AR 3T HTH &l foha o # wam?

(A) 5 days

(B) 6 days

(C)10 days

(D)12 days
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In an examination, 92% of the students passed and 480 students

failed. If so, how many students appeared in the examination?

Teh THATH , 92% ST UTE FU AR 480 BT Wel TY 39 AT H Tehe
BT IITTH Y A 2

(a) 5000 (b) 6200 (c) 6000 (d) 3800




In a school ratio of number of boys and girlsis 4 : 1. 75% of Boys and 70% of

girls got scholarship. Find the number of students who did not get any

scholarship.

T e § oigeh SR oiegfoRat T o uTa 4 @ 1 81 75% WSeh 3R 70%
ATStRAt sl BT THeTdT 7, a1 0o fohaw sr=ar 7 fotee s are =& gidt?
1-26% 2-30% 3-40% 4-350%
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Amit bought an article for 2310 and sold it at a loss of 25 %. With this mon,
he bought another article and sold it at a gain of 40 % . What was his overall
gain or loss percent?

HAT d Th I&J P 2310 A TG 3N 3F 25% & g W I
fearl 58 99 9 38 U 3R aFd TG 3R 38 40% & oH W a9
e @@ Por oH a1 i ufard o 277

A) Loss 2.5%  B) Gain 8% C) Loss 4% D) Gain 5%

29




10.3x10.3%x10.3+1

10.3x10.3-10.3+1

1)9.3 2)11.3
3) 10 4)12.3




A boat travels 10 km. in one hour down stream and 14 km. in 2 hours up stream. The

time it will take to travel 34 km. in still water is-

T TS 10 TR, STTIATE § Uk 90 W AT 8 3R 14 ToRHT Seawame § g1 6 § ATl 21 o1
T | 34 foreft S § e wwar ¥

1 y
(D1hour @)4hour @(3)1 > hours (4) 1 3 hours

31




A, B and C together earn 300 per day, while A and C together earn 188 and B and
together earn 152. The daily earning of C is :

A, B 3R C firerert 300 $ur ufa 2T s1fita oea 8, STt A 3R C fierert 188 U 31K B
3T C ToeTemt 152 9 HHTd 81 C it 2fFes swure feraet 27]
(2) T40 (b) 68 (c) 112 (d) 150

32




The speed of a car is 36 km/h. How much time (in minutes) will a bus

traveling at one-fifth of the speed of the car take to cover a distance of 900 m?

Ueh R kT Tfr 36 TeRH1/EeT 31 SR AT 7T o Tiera WO & ATAT Sl STt Ueh 9
<hT 900 WX sht gt 7 ohit | Teha =T o e
a)8.5 b)10.5 ¢)7.5  d)5.5

33
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If X:Y=13:12 and X-Y = 2, then what is value of 2X +3Y?
IfE X:Y=13:12 AR X-Y = 2, aT 2X +3Y T HH HT ?

a) 144 b) 124 ¢) 120 d) 136

34
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A number is first increased by 40% and then it is increased by 30%. What is the
net percentage increase?

Uch HEIT # Ugel 40% T gig Fr I & 3R ™ 39H 30% & gig
T ST ®1 Yg UfANT gig = &2
a)70%  b)96%  ¢)82%  d) 72%

35



What is the value of (6 of 4+16 x 48) + 8 x 4+2 x 3+6 +5(6- 2)?

(6 Pl 4:16 x 48) + 8 x 4+2 x 3+6 +5(6-2) Pl HI
T &7
a) 57 b) 63 c) 67 d) 79

36




P sold an article to Q at a profit of 20%. Q sold the same article to R at a loss o
25%. R sold the same article to T at a profit of 50%. If P bought the article at
100, then at what price did T buy that article?

P?rqa#rzo/asmqtl?uqoq%gazm Qd 38T & P RPT 25%
gl o 99 f&ar R3A Bl TH 50% b oITH U dIar & Ifg pa
a¥g D 100 H @leT, df T 39 a¥d A fhd e W @iar?
a) 125 b)135  c) 145 d) 115

37
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A trader marked up his articles 25% more than the cost price. If he
offered a discount of 10%, then what will be his profit percentage?

wwﬁﬁrmﬁraﬁ}ﬁaﬁqu

o H 25% 3k 3ihd

forar| Ife ag 10% &1 B ST &, dl 3HBT oTH UiArd ol

gIaT?

a) 25% b)10% ¢)37.5% d) 12.5%

38




If the selling price of an article is 25% of its cost price, then what

be the Ioss percentage?
g fopdl g€ 1 Taehd -

gt gfaerd &ar @1em?
a) 75% b) 50% c) 60% d) 25%

g 3Hh T Hed T 25% &, ol

(9N

39
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480 is invested at simple interest. It becomes 520 after 20 months.
What is the interest rate per annum?

480 ITYROT &F1eT W AL fhar Srar €1 20 JA 916 I©
520 %T ST &1 Ufd a¥ saref eX T §7

a) 4% JE c) 6% d) 5%

40
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480 is invested at simple interest. It becomes 520 after 20 months.
What is the interest rate per annum?

480 ITYROT &F1eT W AL fhar Srar €1 20 JA 916 I©
520 %T ST &1 Ufd a¥ saref eX T §7

a) 4% JE c) 6% d) 5%

41
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Ifa:b=7:9andb:c=5:7, then whatis a: ¢
'Q'fé'{a:b=7:93ﬁ'{b:c=5:7,?ﬁa:c?ﬂTél1|I?

@)5:9 (1)3:5 (©7:21 (d)7:15




Four numbers are in the ratio 1:2:3: 4. Their sum is 16. The sum of the ﬁrt

and fourth number is equal to:

TR EEATY 1 : 2 : 3: 4 o FATUTA H g1 3TRT AT 16 7 A Tgeit AR <veft dearat
ST 1T FAT ERT

(@)s (b) 8 (¢) 10 (d) 80
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The radius of a circular wheel is 1.75m. The number of revolutions that it will make in

travelling 11 km is

foret g ufedr s Brear 175 1. 81 11 Tt & o8 o & # gaent fonar s

T U=?
(a) 1000 (b) 10,000  (c) 100 (d) 10




The area of a circle is increased by 22 c¢m, its radius is increased by 1 cm The

original radius of the circle is

afe ferelt g ht Foream Y 1 A, SgTan ATC @Y SHeRT Q% 22 At SATET 2
1 shY aTEdaforeh BT 7 &2
(a) 6 cm (b) 3 cm (¢) 3.2 cm (d) 3.5 cm




Two inlet taps x and y can fill a tank in 36 minutes and 60 minutes respectively. Find
the time taken by both the taps together to fill 1/6th of the tank?

27 TATITERT UTST x 3 y SHAIT: 36 THAE 3R 60 H=e W Uk & & Aehd | ok T 1/6 I
T % Toru T uTeut grT fretrent forat T o) wwe 7iTa Rt

3 | 1
(A) 4 minutes (B) 3Z minutes (C) 45 minutes )] 55 minutes
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The total age of P, Q and R four years hence will be 98 years. Find the age of R four

years hence if the present age of P and Q is 32 years and 23 years respectively.

IR T &G P, Q 3TR R i Tt T 98 T Y| AfS P 3R Q Y T AT THAW: 32 I
3R 23 a9 3 A1 AR W &1 R <ht AT Teha T gIit?
(A)3199 (B)32d9¥ (C)35a¥ (D)37aW




Chetan can row at a speed of 9 km/hr in still water. If the speed of stream is 5 km/hr it

takes a total 4.5 hrs to a certain distance upstream then come back downstream to the

same point. How far is the place?

A 3 FC T A 9 FeRwty v Sy wrfer & v <o wehan 21 afy e iy wfa 5 RRdvEeT R,
IH &R ok iclehel Teh I g a8 ot 0 31 FoRe St Teig W 1TeITe oI wied W e
4.5 U THY TTAT & | TATHT ok sfrer T AT Y 2

A)14dkm @B)1Skm (C)16km (D) 13 km




The perimeter of a rectangle is 80 cm and its area is 375 sq.cm. What is
the difference between the length and the breadth of the rectangle?

Ueh 37T <Al UTfer 80 WY § 3T SHRT et 375 T QHT 21 31TId <Al
TS 3R TISE H T 3R 82

(aA)12cm (b)) 20 cm (¢) 10 cm (d) 16 cm




Seat for Arts and Science are in the ratio of 3 : 8 respectively. If the
number of students studying Arts and Science is increased by 20% ,
and 25% respectively. What will be the new ratio of seats for students

in Arts and science respectively ?
Warr{ |o|:||-+ o TeTU HTS ShHIT: 3:8 h AT fr%l ?Jﬁfan_cﬂa'l'{ [T <RT ST e

AT BT hl TEAT ﬁ9hl-l8l 20% 3Tl'{7<% h O“QS\ hT AT ‘a'l FAT AT |o|:||-+ U B0 6
ToTU T ohT 2T STTUTA SHHIT: T BRI
A-18 :35: B- 3< R C- 12:43 D-9:25




Find the greatest three number which is multiple of 3.

W@Fﬁamzﬁrmmzﬁrﬁa’rs
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\/16+\/71 + /89 + V121 =2

)25 2)5 3)10 4)3
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If the price of movie tickets is increased by 20%, then sales of it is decreased

by 5%. Find the overall Change in revenue .

gt TRt et fehe T ™ 20% =g foam Smu o sweht forsht 5 % ge S at
HeT TSTET H AT RS ST ?

1)errs afad 2) 14 % afy

3) 12 %owHt 4) 14%, =t
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Two buses travel to a place at 45 km/hr and 60 km/hr respectively. If the second bus

takes 5% hours less than the first for the journey, the length of the journey is:
3 T8 A 45 TR/ GUeT 3R 60 Tor.H./aver i oTer ¥ AT W @ 7| Afg qEh 7w

el o8 hl AUAT AT H 5 %m%w?ﬁﬁ%, A TaT2u I foRaHt et &2
(A) 900 km

(B) 945 km

(C) 990 km

(D) 1350 km
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A can finish a work in 20 days, and B takes 25 days to finish the same work. Both of -
them started together but after 4 days A lett the work. Then, now, in how many days will

B finish the rest of the work?
A T ST T 20 ToT H o0 o AeRdT § 3T B 3HT hTH ol O ohE 25 faa erar g1 g A

Tk T JEIATA <hl ATk 4 TS o6 18 A 7 TR BIE A A, 319, B 99 &1 &1 {eha o1
H O ShTTT?
(a) 14 (b) 15 (c) 16 (d) 18




The capacity of tap A is 40% more than tap B, if B can f|||
a tank in 35 minutes, then in what time A can fill it -

TR A T AT A B 40, ATk F AT B Ferw ZehT ohT 35 fire § o Fe
2 A1 IAT3T TcT A 39 Tehdd 0T H W TehdT 8 —

1. 10 min 2.12.5 min 3. 15 min 4. 25 min




& 3
D &)
v v

N o N F
S NG
N

Find the remainder when 2379 is divided by 24.

If¢ 2370 @l 24 § T fham SITdT &, Al AU &l
UdTl ofdmu |

a)76

b)75

c)1

d)78
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The HCF and LCM of two numbers are 12 and 72. Ratio of two numbers

is 2:3. Then find the larger number.

qt HEATS ST HCF 3 LCM SRATT: 12 37 72 T 37 deanei st ST 2:3
Bl T ot e @

a)24

b)36

¢)40

d)30







